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Cs=MpEssHe 7,400 8,000 AB00
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201 Yer2 Y| 1,800 2,000 A200
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94,000, 000& *14] 94,000
03 A& 20 b 1,000 0 1,000
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1,000,000& » 14 1,000
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FOIXNXAMEH 29 25 XS 40,580 42,900 N2,320
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ozg=sY 31,800
OFQURXANE BH2Y
70,000& x25H x12& 21,000




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFUNXME T2 A=
300,000& x3H «12& 10,800
02 =224l 2,000 1,000 1,000
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01 SLHOIYI 1,800 1,800 0
OFCUXXEE HEF=E I
50,000 »3H » 122 1,800
301 et A= 900 1,000
09 &AL HI B &S 900 1,000
OFLUXXEa HdAXNAS AKX 2a=2
1,000, 000& * 13! *90% 900
SH)R S 139,078 139,078
AREHY 139,078 139,078
HEd 2E3& 53t 16,178 16,178
101 @144 Hl 12,178 12,178
04 JIZHHZ22XRHEE S 12,178 12,178
oOEzd H=&xd 9,594
Oy 150,000& 5H 12 9,000
O= &Hl 3,000& x5H « 122 180
OCLEMNMEEE 9,000,000& *4.6% 414
Oz (A=) EXAY 1,292
Oy 100,000& »6H 2L 1,200
O= &l 3,000 x6H 2 36
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O (Fa=)Z HalSLH 1,292
ooy 100,000 6% 2 1,200
O= &l 3,000& x6H 2 36
OLBM4NMEEZ 1,200,000& *4.6% 56
206 M= Hl 4,000 4,000
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1,000, 000& »24! 2,000
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OalRIRl 22 &3 % B4 ZA
10,000, 000& 14 10,000
Os=2 =22 84X & B ZA
9,000,000& x14 9,000
OAt&Eel =224 XISA 10,000,000 14 10,000
Ozgte] =2 28 X3 A 7,000,000& »14 7,000
OEE1el =224 XSAt 6,000,000 =14 6,000
OFTHel +22EXTA 9,000,008 «14] 9,000
OYNel 424K L VYRIF TA
9,000,000 »14! 9,000
O2AHe] =228 X 3AL 8,000,000 14 8,000
O2rAt2el =22 E XIS A 10,000,000 14 10,000
O2del =224x & JUZEH SA
8,000,000& » 14! 8,000
Ogshiel =228 X 3AL 6,000,000 * 14 6,000
ogseel sZ2EHEIA 8,000,000 » 14! 8,000
03 Al S HHI 900 900 0
OXNEZE ML AL 100,000, 000& *0.9% 900
o)A 2L A 270,093 263,899 6,194
el 2l 101,513 90, 119 11,394
ol 2| 101,513 90, 119 11,394
101 @124l 101,513 90, 119 11,394
01 2=+ 37,143 28,556 8,587
OAZtZRxE 37,143
o623 10,682% *4H «25A| 2t 12& 12,819
o7 9,6493 x4 H +25A| 2tx 128 11,579
OF: = 8,663 4 H«25A] 2t+123 10,396
O9= 7,8303 x1H+25A] 2tx 122 2,349
03 RIAHAZ 2 E =+ 64,370 61,563 2,807
(OF=ENgelRcs 64,370
OoJlzs 1,468,630 x2H 123 35,248
O&0= 1,468,630% »2H »43| 11,750
OG &5 0tdl 500,000& x2& +23| 2,000
OANMZe 2R+
10,6293 1.5+ 15A| 2H+2H x 128 5,740
OFL2LE 10,6293 +8AI 2h+1.5+2H 6L 1,531
OAR=< 10,629% *8A| 2t 2«12 2,041
o1l =l 150,000 »2H x 13| 300
OfIg=g 30,000 x2H 128 720
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OFHZAH| 70,000& x2H x12& 1,680
p[EER] 168,580 173,780 A5,200
Jl23Hl 168,580 173,780 A5,200
201 et A | 123,720 122,700 1,020
01 At 22l bl 38,620 37,260 1,360
OBt 2H| 22,560
OZANSE S| 300,000& *12& *90% 3,240
OJIS2 AR s EH| 550,000& * 122 *90% 5,940
OxZE 2AMEZ M| 200,000& *12& *90% 2,160
OdgE L X sl 150, 000& = 12& *90% 1,620
OFAI SH&A HIU dEez
25,000 *6IH x12& 1,800
OFRQIHANAL S22
600,000& x12& 7,200
OZEHHZ2AIAE 22925 50,000 *12& 600
o2ds¢ 13,330
O g &t 50,000& *119 5,950
O=2t| 30,000 *246 7,380
O Z2&H| 2,730
oort2f & 24| 7,000 x 13 »30 2,730
02 3524l 85,100 85,440 N340
02222 <2 MA 66,600
OJzs L A JIIe=2
5,000,000 x12& 60,000
OdERHELYSESZ 150,000& = 12& 1,800
OXNENIINANESS 750,000& *43| 3,000
OJIEtsE22=2 ¢ HMA 150,000& *12& 1,800
odLe)] & HA=H| 1,500 »4002| Ef x4 & 2,400
OFA S A& &EH S XY 500,000& x73| 3,500
OxE2d9H| 350,000& *3CH x12& 12,600
202 04d| 33,900 31,800 2,100
01 2L Y| 2,700 3,000 A 300
O3 &AM LU SHAALRFEX Y|
50,000& 4 15 «90% 2,700
02 & 40| 31,200 28,800 2,400
O ¥l 200,000& *13H x12& 31,200
203 ¥ R =&t 9,460 10,080 N 620
01 J|22I PR =&Y 5,940 6,600 A 660
OJ|H#2Ig IR 550, 000& * 12& *90% 5,940
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